F .

Calculation policy
Objectinve /
Concrete Pictorial Abstract
Strategy
A whole apple Half an apple
Recognise; find Half of 10 =
MW@W
os one of two % “ Half of 8 =
object, W"" “ % of 14 =
quantiby. | %
Recognise, find: ’ A quarter of 20 =
an,d;mmba;
quarter as ones of 4 A quarter of 12 =
four- equal parts of 1
quantity. 4
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Calculation policy

Objectinve /
S’U\abe,gg/

Concrete

P.l .|

and name and

3/4 of o length,
shape, seb of
objects or
quaniiy.

1/3, 1/4, 2/4 and . ﬁ

N

/

White simple
fractions and,
recognise the
2/b and, I/2.

! a pie You have% of a pie

F .




Calculation policy

Fractions

Objectime /
bjectime C | Pictorial, Abstract
Strategy
Count up and,
down i terths: ‘ ' l'_uufazu.ﬁ
S AIEIEETINIY s
6=-10=06
et 11
into tery equal E iof?':ﬂ.?
mm-jgm i i 10 pecause
numbers or Fractions car also- go- beyond | 10 10 7+10=0.7
Re,cogmse,}md/ )
&:“':m ﬁ@ ﬁ lof155w2e15:3
) 3 . 5 15-5=3
discrcts, s f S oag® %
Iract and ﬁ : ﬁ 2 of 15 sweefs =6
, 4 ﬁ ﬁ 5 15:5=3and3x2:=6
as numbers.




F .

Sam says that Two quarters
is the same as one half.

Is he correct?

How do you know?

small two halves four quarters
denominators. i 4
5 ,1_6
mmm 7 7 7
denominator. 1 ! . 3 - § 5 2 . 3
5 8 8 8
Compare and,
o 2| [E][E] [T
. 8 |[8][8][8
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Objectire

S’U\abe,gg/

Concrete

P.l .|

F .

Abstract

Cotmbupamd;

0
recognises | |

0.1
[ R T R R R

object by 100
o il
tenths by 10.

0.00 001 002 0.03 004 005 006 0.07 008 0.08 010

thousands
hundreds
tens
tenths

g hundredths

ones
® Decimal Point

1 hundredth = 0.01 = _"_
100

1 of 60:-06

100
because 60 = 100 = 0.6

1 of 70=0.7

10
S0 of 70 = 0.07

100D

to 172, 1/4
and 3/4.

% = 0.5
% = 0/25
% = 0.75
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1
E of the chocolate bar = 0.1

0.6
six tenths

0.60
sixty hundredths

Add and,
sub-tract
Jractions with
the same

.00

Sam eats 2/7 of a whole pizza.
Howrrwch;doe&/whwel,eﬁ/?
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E of £18

3

£18-3=£6
£6x2=£12

@
" W
Q

L%

2

25em = i = 0.25m

Solwe s and . t 100em = Im
measaune, ™ ’
m 50cm = > = 0.5m
A E %
5 2
z

10cm = == 0.1m
10

@ lo 30em = 2= 03m
Soe Sl | ] 10




has become

2.3
20

s,

Y '(, (~\

0%
";'5 ﬂ] \
1
4
has become
3
20




7 - Al
532

F .

Conwert Jrom

one/!lor\rmto
the other and

because 7 = 2 = 3 with 1 half left over

1 - 7

23

3

because 2 x 3 = 6 with 1 third left to add

statements >|

| s
1
=)=

B
i
o)

A A
T 5
S 13
—2—0 - E 1 - i - i
20 20 20
1 = 13
4 20 2 I . 3
5 - & B 20




Calculation policy Fractions
3 X 6 = | 8
Change to a mixed number:
numbers by,
2 E = 4 E
45 altogether 4 4

I H 67.153
- R How many thousandths does this number
i ] T have? How many more thousandths do you

1 1 1 need to add to make 67.167




Caleulation polwg, Fractions

Recognise % ) N \ 14_{. =40% =04
symbol as

earing 22 232%=0.32

’ 100

e % a5 2> - 75%= 0.75
ﬁr\ad'i,om, .......... 100

VI B °° [N cccissses ---usames -cc-gasss

EREE 0 EEEEEE 00 EEEEE 2 _i_ of _
| EEEE oiEmmmE . CiESEEE 2 -2 :g%=008
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Objective /
Concrete Pictorial Abstract
S’U\abe,gg/
1 1 5
1141293
Add, and, subtract 1;— g 2 3 3]
fractions withy 1 1 - 1 3
different, 1- - because 1 S=5
denominators and, 2 3
misced, numbers — 3 9 1 2
- - == and - = -
using the concept qp q» 2 & 3 3]
of equivelert bg & g p 9,2 145
ﬁr\aciion,s. @ d 6 (3] L3
5
1_
(3}
Which is greater?
" 2 6
Compare and order . > CRRE
8 Ordering from smallest to largest by using equivalent fractions:
Jractions including 4 s 5 s
8 s 23
fractions >I. ] 12°3'6
& > 5 8 10
3 112 ‘1z
3




Mulsphy simple
pairs of proper
the answer v itts

|- o= Ol Nl

W
oo W

N | —
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Which would you prefer 75% or

| w

3

of a pie?

John scored g in his spelling test and
Hannah scored 40%. Who scored more?

Duide proper

Ot Ot COlet QOlwt (0| OOwt

)

=+ 0|+

N |- \
.I-

w

I
Nl

2 x 3
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Associate Jractions
withy dinsisiorv ands

quarters

3 slices of pie 'out of' 8

0| W

3

8
3 'out of' 8 is the same as 3 ‘divided by' 8

3 +8=0-375
So3=0-375




